04203_B *(4 , a[i@T, B &

7= miiEA

ME
Mo

I
ZFFRAE |
E DIN 787 T %&£ , DIN 6340 # & DIN 6330B 2/ H —E&,

BR:

AAFRERTUPRRERTLRENRE, RERERBEETRHFIM ,
Ht T AR EFE AR, AURERTUTEZHE | TNE2EDH
TSI , AT AEFENESHFEER,

M4
AT B 04204

~H4, H1
T s
2
r

H | H3|!,
A

|12 | &%

04203-210115100
04203-212115125

WITFEIRE (44|30 13 11 0-40 18 27 |17 12| 115 25|30 | 10 M10X100 25
WITFEIRE 44|30 13 11 0-55 18 27 |17 | 12| 115 |25|30| 12 M12X125 30

04203-214115125 WITHEIES (44|30 13 11 0-55 18 27 |17 | 12| 115 25|30 | 14 M12X125 30

04203-212150160 WITFERE 55|41 17 12 0-70 20 36 |21 |17 | 150 [35|36| 12 M12X160 35

04203-214150160 HWITREIRS (55| 41 17 12 0-70 20 36|21 |17 | 150 |35|36| 14 M12X160 35

04203-216150160 WITHEIRE (55| 41 17 12 0-70 20 36|21 |17 | 150 |35|36| 16 M16X160 40

04203-218150160 WITFEIRE 55|41 17 12 0-70 20 36|21 |17 | 150 |35|36| 18 M16X160 40

04203-216187200 HITFEIRES 62|30 21 14 0-80 30 42|27 |20 | 187 |44 44| 16 M16X200 55

04203-218187200
04203-220187200

WITERE 62]30 21 14 0-80 30 42|27 |20 | 187 |44 44| 18 M16X200 55
WITFERE 62|30 21 14 0-80 30 42|27 |20 | 187 |44 (44| 20 M20X200 60

W 000 Mmoo oommo

© norelem www.norelem.com



04203_B Jedt | WET, B &

L2 83| E=R%E (n |READ

kN
HITREIRES 62|30 21 14 0-80 30 42|27 |20 | 187 |44 |44 22 M20X200 60
WITHEIRE (70|30 25 17 0-100 |31 51|34 |24 |235(60|47| 20 M20X250 70
WITFEIRE (7030 25 17 0-100 |31 51|34 |24 235(60|47| 22 M20X250 70
WITHEIES (70|30 25 17 0-100 |31 51|34 |24 |235(60|47| 24 M24X250 75
WITEIRE (70|30 25 17 0-100 |31 51|34 |24 | 235(60|47| 28 M24X250 75

04203-222187200
04203-220235250
04203-222235250
04203-224235250
04203-228235250

0| 0| 0| m| ©

© norelem www.norelem.com



